This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 6 - East Kilbride South

5,227

1,307

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Archie BUCHANAN	Scottish National Party (SNP)	2,119
Conner CAMPBELL	UKIP	50
Fiona DRYBURGH	Scottish Labour Party	1,030
Geri GRAY	Scottish National Party (SNP)	572
Alexandra HERDMAN	Scottish Conservative and Unionist	773
Paul MCGARRY	Scottish Liberal Democrats	506
John PARK	Tommy Sheridan - Solidarity - Hope Over Fear	73
Ruth THOMAS	Scottish Green Party	104
	Total	5,227

Candidate Archie BUCHANAN Elected with 2,119 votes, being in excess of the quota of 1,307

This report contains the transfers results.

Stage 2 - Surplus of Archie BUCHANAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie BUCHANAN	0	0.00000	0.00000
Transfer to Conner CAMPBELL	23	0.38319	8.81337
Transfer to Fiona DRYBURGH	193	0.38319	73.95567
Transfer to Geri GRAY	1,629	0.38319	624.21651
Transfer to Alexandra HERDMAN	17	0.38319	6.51423
Transfer to Paul MCGARRY	53	0.38319	20.30907
Transfer to John PARK	23	0.38319	8.81337
Transfer to Ruth THOMAS	60	0.38319	22.99140
Value of non-transferable ballot papers			46.38638
	Total		812.00000

This report contains the transfers results.

Stage 3 - Exclusion of Conner CAMPBELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie BUCHANAN	0	0.00000	0.00000
Transfer to Fiona DRYBURGH	5	0.38319	1.91595
Transfer to Fiona DRYBURGH	3	1.00000	3.00000
Transfer to Geri GRAY	5	1.00000	5.00000
Transfer to Geri GRAY	10	0.38319	3.83190
Transfer to Alexandra HERDMAN	4	0.38319	1.53276
Transfer to Alexandra HERDMAN	20	1.00000	20.00000
Transfer to Paul MCGARRY	5	1.00000	5.00000
Transfer to Paul MCGARRY	1	0.38319	0.38319
Transfer to John PARK	2	0.38319	0.76638
Transfer to John PARK	4	1.00000	4.00000
Transfer to Ruth THOMAS	2	1.00000	2.00000
Value of non-transferable ballot papers			11.38319
	 Total		58.81337

This report contains the transfers results.

Stage 4 - Exclusion of John PARK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie BUCHANAN	0	0.00000	0.00000
Transfer to Conner CAMPBELL	0	0.00000	0.00000
Transfer to Fiona DRYBURGH	7	0.38319	2.68233
Transfer to Fiona DRYBURGH	11	1.00000	11.00000
Transfer to Geri GRAY	25	1.00000	25.00000
Transfer to Geri GRAY	8	0.38319	3.06552
Transfer to Alexandra HERDMAN	5	1.00000	5.00000
Transfer to Paul MCGARRY	8	1.00000	8.00000
Transfer to Paul MCGARRY	1	0.38319	0.38319
Transfer to Ruth THOMAS	5	0.38319	1.91595
Transfer to Ruth THOMAS	14	1.00000	14.00000
Value of non-transferable ballot papers			15.53276
	Total		86.57975

This report contains the transfers results.

Stage 5 - Exclusion of Ruth THOMAS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie BUCHANAN	0	0.00000	0.00000
Transfer to Conner CAMPBELL	0	0.00000	0.00000
Transfer to Fiona DRYBURGH	6	0.38319	2.29914
Transfer to Fiona DRYBURGH	20	1.00000	20.00000
Transfer to Geri GRAY	45	1.00000	45.00000
Transfer to Geri GRAY	39	0.38319	14.94441
Transfer to Alexandra HERDMAN	1	0.38319	0.38319
Transfer to Alexandra HERDMAN	6	1.00000	6.00000
Transfer to Paul MCGARRY	11	1.00000	11.00000
Transfer to Paul MCGARRY	4	0.38319	1.53276
Transfer to John PARK	0	0.00000	0.00000
Value of non-transferable ballot papers			43.74785
	Total		144.90735

This report contains the transfers results.

Stage 6 - Exclusion of Paul MCGARRY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie BUCHANAN	0	0.00000	0.00000
Transfer to Conner CAMPBELL	0	0.00000	0.00000
Transfer to Fiona DRYBURGH	14	0.38319	5.36466
Transfer to Fiona DRYBURGH	153	1.00000	153.00000
Transfer to Geri GRAY	77	1.00000	77.00000
Transfer to Geri GRAY	26	0.38319	9.96294
Transfer to Alexandra HERDMAN	4	0.38319	1.53276
Transfer to Alexandra HERDMAN	136	1.00000	136.00000
Transfer to John PARK	0	0.00000	0.00000
Transfer to Ruth THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			169.74785
	Total		552.60821

This report contains the transfers results.

Stage 7 - Surplus of Geri GRAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie BUCHANAN	0	0.00000	0.00000
Transfer to Conner CAMPBELL	0	0.00000	0.00000
Transfer to Fiona DRYBURGH	486	0.02027	9.85122
Transfer to Fiona DRYBURGH	262	0.05291	13.86242
Transfer to Geri GRAY	0	0.00000	0.00000
Transfer to Alexandra HERDMAN	18	0.05291	0.95238
Transfer to Alexandra HERDMAN	58	0.02027	1.17566
Transfer to Paul MCGARRY	0	0.00000	0.00000
Transfer to John PARK	0	0.00000	0.00000
Transfer to Ruth THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			47.17960
	Total		73.02128